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Find the values of x and y for each diagram.
3. 33,

(2x-16)7]

34. Can the measure of a complement of an angle ever cqual exactly half the
measure of a supplement of the angle? Explain.

35. You are told that the measure of an acute angle is equal to the difference
between the measure of a supplement of the angle and twice the measurc
of a complement of the angle. What can you deduce about the angle?
Explain.
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Written Exercises

1. In the diagram, UL 1 MJ and m £ JUK = x. Express in
terms of x the measures of the angles named.

a. LLUK b. £ MUK

2. Copy and complete the proof of Theorem 2-5: If two lines form
congruent adjacent angles, then the lines are perpendicular.

Given: £1= 1,2
Prove: [ L n

Proof:
Statements

Reasons

L1=/2,0rmLl =mL2

ms1l+ mL2 = 180

mL2 + ms2 =180, or 2m L2 = 180
mL2 =90

woR e

O

. of L lines





image11.png
Name the definition or state the theorem that justifies the statement about
the diagram.

3. 1f £ EBC is a right angle, then BE L AC.

4. 1f AC L BE, then £ ABE is a right angle.

5. 1f BE L AC, then ZABD and £ DBE are complementary.
6

. If ZABD and £ DBE are complementary angles, then
mLABD + m£DBE = 90.

7. 1f BE L AC, then m 2 ABE = 90.
8. If ZABE = L EBC, then AC L BE.

In the diagram, BE | AC and BD . BF.
Find the value of x.

9. m/LABD = 2x — 15, m£DBE = x
10. m £ DBE = 3x, m £ EBF = 4x — 1
11. m£ABD = 3x — 12, m/.DBE = 2x + 2, m£LEBF = 2x + 8

12. m£ABD = 6x, m£DBE = 3x + 9, mLEBF = 4x + 18,
mLFBC = 4x
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28. Copy everything shown and write a two-column
proof.
Given: A0 1 CO
Prove: £ 1 and £3 are comp. &

29. First find two lines (other than Y5 and VF) that
are perpendicular. Then write a two-column proof
that the lines are perpendicular.

Given: YD 1 YF
mLT =mLS;
mL8 =mL6





image1.png
“Kuadoig aamisuesL, oy Kq
§7=L7°67 =p7PUEY7 = L7 DuS
JUBNIBUOD 21 SATUE (PO DUS §7 = §7  UOBAIOS
<7 01 uanI3u0) SIBUE JOYI0 O} AWEN
‘g7 = 7 ‘weidwp oy up Z ejdwex3y

Jo *doig uonoengng 7 =1710T7uw 17w
“doid ALY '€ 7w c7u €

~dosg wonmusans g 7w 4 LW = E7W + 17U

081 = €7 + T7U

Qie[nIsod UONIPPY B4V 1 081 = 7w + [ 7MW
suoseay swewaes

130018

:><: T=17 a0x
SofSur [ronan 1w 77 pUE | 7 U340

“Juanaduod axe safue A
£-Z wetosyL

————————————————————————————————————————

g “uan am p7 puE 77 7 “uor a1 ¢ 7 pur
2 “soqum [ronoA o sated OM) O] A3} “19ISIANUL AL ORI H35 1.
T [Bue 1oy10 241 Jo SIPIs A 01 skes ansoddo e [Fur =

10 SIPIS 21 1P} YONS SATUE 0N AU (7 “1IA) SIABUE £,




image2.png
g X v o[fue wSeas v p
sopfue Amuowadwod omi *3
JuaniRu0a jou e Jey sajue Kpuowdddns om *q
Sojfue Amuawaddns woni3uos om ‘e

aweN 06 = gXV7 W weisup o uf *6

“sopfue Kwuowarddns Jo 1ted Jogoue ey “q
91w 7 Jo wowaiddns ® aweN ‘€ g

Juaoefpe 100 21 ey Sa[FuE Aeuowoldwo om dweN L
“sopfur Kpuawaldwod 1WaIT(pE OM) JuEN

“soifue Fu om dwEy

S=v7ucy 68 = V7u g sL=v7ug or=v7u-l
-y 30 yuawoddns v pur juawarduiod © Jo SHIMSEIW A PuL

ses|1949X3 Wooisse|)




image3.png
Complete.

10.
12.
1.
16.
18.

20.

21,

LA0B =2 1. LAOE = _2_
LFOB=_1_ 13. £C0A =
mLFOE = 2 15. m£COD =
msDOB = 17. m£AOB =
mLCOE = 2 19. m/FOB =

The four angles of figure PORS are
right angles. 2 VIR is a right angle.
mZ QSR = 60. Find the measures.

a. m/VIP b. mZXSY
c. mZRSX c. mLPSY
Given: £2=£3 .

a. What can you deduce?
b. Explain how you would prove your conclusion.
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Written Exercises
Find the measures of a complement and a supplement of ZK.
1LmsK =20 2. meK =12 3.miK

4. mLK =2y

5. Two complementary angles are congruent. Find their measures.
6. Two supplementary angles are congruent. Find their measures.

Inthe diagram, Z AFBisarightangle. Name the figures described.

7. Another right angle 8. Two complementary angles

9. Two congruent 10. Two noncongruent
supplementary angles supplementary angles

11. Two acute vertical angles 12, Two obtuse vertical angles

In the diagram, OF bisects 2SOU, m LUOV = 35, and
mZYOW = 120. Find the measure of each angle.

13. m£L20Y 14. m L ZOW

15. m L VOW 16. m £ SOU

17. m£TOU 18. m £ ZOT
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